


17

18

20



(  1,218m)

194km
3,900km?
2
92
54 JR JR JR
20%
150 200m
400 600m
1,000 1,300m
3
3
70
1,500mm 2,000mm



1-1

194Kkm 12
3,900km? 16
5 3
3 4

21

293







@

(@]

35
47

58
6km 8km

Im

58

47

6
17km

18

18

2m

60

Im

58



000X0¢

000X61

000%8T

000XLT

000%9T

000XST

000%¥T

000¥€ET

000MCT

000XTT

000X0T

0006

0008

000ML

0009

000%S

000M¥

000%€

000M¢

000MT

0000

0K000 20K000)

)(

)

(

2-1(1)

000M0v

000%6¢€

000%8¢

000x.€

000X9¢

000XS€

000MvE

000MEE

000xce

000MTE

000x0¢€

000X6¢

000X8¢

000M.¢

000%9¢

000%S¢

000M¥C

000x€ee

000Mce

000MTe

000X0¢

20K000 40K000)

)(

)

(

2-1(2)



)
)

(s47

(s58
(H6

18

70

S58
H6

(s47
(s58

000X%09

000465

000X8S

000MLS

000495

000%SS

000475

000%€ES

000Mc¢S

000MTS

000X%0S

000X61

000X8Y

000M.Y

000491

000X%SY

000X VY

000MEY

000Mcey

000MTY

0000

40K000 60K000)

)(

)

(

2-1(3)

N ~~ -
IR R & ~ 714
N 58 ¢ 3
\\\\\\\\\\\\\\\\ N, |ggeE ]
AJ
e N | 111
\ |
|
|
.| ‘
|
“““““““““““ M/m$“““‘\
/,
““““““““““““ Mo
Dl
!
T B
| 7
” f 1
, N
]
N\ ]
2,
! h\
“““““““““““““ AN W
|
“““““““““““““ S
|
|
| 4
|
|
| n
|
|
|
, 1
|
|
! 1
|
|
“““““““““““““ N
|
|
o o o o
o o [¢¢) ~
-

(u-d-1)

S58
H6

(s47
(s58
H

000X08

000X%6.

000X82

000MLL

000492

000%S52

000MYL

000XEL

000M¢L

0004TL

000X%0L

000X%69

000X89

000429

000499

000459

000X%79

000X%€9

000X¢9

000479

000X%09

60K000 80KO000)

)(

)

(

2-1(4)



)
)
)

(s47
(558
(H6

(H18

S58

(s47

120
110
00

(ooexser)
000%00T

(ooednrer)
000%66

(ooexeeT)
000%86

(1449
00036

(ooexter)
000496

(oogexozt)
000456
000X76
000%€6
00026
000416
000406
000%68
000%88
000%.8
000498
000%58
000%78
000%€8
000428
000XT8

000X08

)
)
)

(s47
(58
(H9

(H14

80K000 100K000)

)(

)

(

§58

7

2-1(5)

145
105

000X%0¥T

000%6€T

000X8ET

000MLET

000X9€T

000XSET

000MYET

000XEET

000McCET

000MTET

000X0€T

000X%6¢T

000X8¢T

000X22T

000X%9¢T

000X%5¢2T

000X¥CT

000%€CT

000Mc¢eT

000XTCT

000%02T

120K000 140K000)

)(

)

(

2-1(6)



)
)

(s47

(s58
(H9

)

(H18

195

7 000X09T
w 000%6ST
w 000%8ST
w 000%2ST
w 000%9ST
w 000XSST
w 000MPST
w 000X€ST
w 000%eST
w 000MTST
w 000X0ST
w 000M67T
w 000%87T
w 000MLPT
w 000X%9¥T
w 000%SYT
w 000PPT
w 000MEYT
w 000MeyT
w 000XTYT

—1 000MOvT

140K000 160K000)

)(

)

(

2-1(7)

)
)

(s47

(s58
(Ho

)

(H18

180

S58
H9

(s47
(s58

000X08T

000%6.T

000%8.T

000MLLT

000X%9.T

000XS.T

000MY7LT

000%€LT

000X¢.T

000MTLT

000%0.LT

000X%69T

000%89T

0003297

000%99T

000X%59T

000%79T

000%€9T

000%29T

000XT9T

000%09T

160K000 179K000)

)(

)

(

2-1(8)



T T T ~ i i 000%9
! ! ! ~ A~ | |
! ! T~ A~ ~ I I
I I I ~ I I
[ [ ! P o< | [
\\\\\\\\\ e 1
| | I~ o < w4 ! 7 000XS
< 0 o o I I
| | lvw v T T | |
| | IR S , |
I I I
“““““ | lseal |
| T I 38 | .1 000MY
I I I o < < |
I I I
I I I ”
I I I |
“““““ B i 7 7 1 -—--——1- 000)e
I I I ”
I I I |
I I I |
I I I
\\\\\\\\\ e ] ” ” 1 000M¢
I I I
| | | 7 7 | |
I I I |
I I I |
\\\\4 \\\\\ ” \\\\\\\\ ﬁ \\\\\\\ ” \\\\\\\\\ 11 000MT
I , IR T
| I I | | |
| | ! B ,
, , , 000%0
2 2 3 3  ©® o < o N @
— — — — —
(u-d-1) (w)
T T T T 000X%9
I Loy . 1 ~ I o
| | 4 ~ A~ | | 1
| | ~ ~| ] | | 4
I ,| I m I I
\\\\\\\ | T ____—_____J__] ] Do~ ! .
! ! ~ < n T - I | 000XS
| | I O O o T | [
” ” NAVEAIAE | A
1 | [
” ” ] N~ o® -
““““ SREEREEEEEEEEE R 1 382 N | [ ] oooxy
| | 1 ~ ~ | |
” ” ] |
I I ] I I
\\\\\\\ T\\\\\\\\\\\\\”\\\\ﬁ 7 _ 7 r \” ”\ 000M¢
| | 1 | |
” ” , ] o
| I B J I I
““““ AR R 7 _ v 00042
| | | 1 | |
\| A I—
| Y ‘ B
I I | J [
““““ #/ T L oo
! | | | | o]
| A R I A\ (A
! ! ,7 1 | | | | 4
n n n |- n - n TR 1 - n - - n P R I L OOOV_O
5 2 S g 2 § © N oo qqQ
Ll — — Ll — —
(wid 1) (w)

| | 1 |~ A~ ]
1 I~ ~ | |
| | ~
,/ | 1 o < 1
\\\\\\\\ I e | = x — -
! D 18 o I - 1
| 1) I I 4 d
| / N ]
” ” ] 2 o ]
L e B / \\\\\\\\\ ! = [%5) I —
| | 4 A i
| | e B
| 4 d
| | | |
| | 1 1
| J/ | 1 ]
| 4 d
L ____\ o ____] |
| |
| F 1] |
| | 1 1
| | e B
| | 4 4
| | \
| |
| | ] 1
| | 1 1
o o o o o o o — o
2 5 S 2 3
(u-d-1) (w)

000X9

000XS

000MY

000X¢€

000M¢

000XT

)(

)

(

2-1(9)



&)

50

47

T T = = T T =
oI | =3 = | | =
@] : 2 (0y2rT Q' _| @k

- - U p— — | (AA%/ .
| | © _=mN98) | © Y EG DR

~ ® o ® b 0

< | | Irs) of &

Dl | L2 = 3

| | | _ |

| | [ |

| | =] =] r.n [ )

| | R s T R - N

| | [

| | -

| | [
| B | © L _ _ o © | Y * I N ©

| | ™~ ™~ | | ™~

| | | |

| | [

| | | |
N I e Ll e

| | ,lm |

| | | |

| | | |

! ! 7o) _ ___w L& |,

| | [T [T ] i [T

| | | |

| | | ._I,

| | [ |

| | o o - B

A o
il el n Bl BT - = S| ® F-g—r- ®
| | | |

| | | w |

| | [

| | o . [ .

| | < -k --- < [l e S el S

I I [ I

| | [

| | [ "N

| | ° o LR °

| | f L--%---1 2 \\TJ\\T\ <

| | | |

| | | |

| | | L_r|,
SRR L [ — —— - ———— —_———

n n 0
e SIS TR RS S
| | | |

g ER

™™ |8 48 48

|

| | .

| L |
| L |

] | ™ 0 | | 0
[~ = I ) T = A S R s T R O

| | [ T

-

| | [

| | [

! 'l Lo k- g L_LA_L_|g

| | « « [ «

| | |

| | | .ul,

| [ o

- - — — —_— = = - -
[l N -2 il B T - i
| [ [ ~
| [ I

F C1

I S F---F--| S et S

| | [ S

- —_—
T i [
| [ o/

| | [T) p—— w o Lo | w

T | | |
L | | ~ | |
s | | 3 | |
b | & | | N |

— i — —— — = — - ——
L e = e Qe - .Dl..
™M AN - O N = O 1_. N

=
=
=

0KO 86K5)

(

2-2(1)

(] (]
£ £
% = lo =l
» B =
5 2 |8 2
-——- i o
[%2) — 2] — ==
~
o o
=] o <
— — 2
- 2 2
[ T — T — r--- -7 - - -
|
|
|
| o o
| ~ =
-~ - o
| S
|
! [T} 7o)
| © O
| — —
|
N~ |
. |
o o
~ | © ]
<t | — — ]
w |
|
! T} T}
| o] [}
I - - I
— I I
| |
| |
L _ L 18 L=l | 8 L__ 1L
— -
0 0
L 12 L3 ___1 2 L_ _
— -
- — - — ] — -
o
=} o
- - - - | — - -
~— — - — ] — —
| —
.IuHJ.lMlll.ll —— | — -
oo w0 7o)
0 o (321
N | — —
|
|
|
| o (=
| 132} 1%}
- -
|
|
|
! 0 e}
| N N
| - -
|
|
! o o
[E S B 154 Lo _F___1 & L_-__ _
| - -
|
|
! 0 )
| 3 : 3
| E
|
| L(oyeTD) Lo
| (5X98) (S¥p8)
j o =}
— L — !
— -

N 4 O 4 «

[w]

115 120 125 130 135 T140 1 145 150 155 160 165 | 170 175 180 185

110

[km]

110K0 179K0)

(

2-2(2)

10



[} [}
£ £
| | 4 4
e e
oFtr--g------
| | o
+t-——Ft-——4---4 v
0 | |
OrEr-—-=7--
(720 | o
R T e
I N S
| | o
e SRRREE
L P
| | o
-t -4 «
| |
Feer "k --7---
IR R DU
T 1 -
R T
| | o
| | o
[u]
[} [} [}
£ £ £
| | =, | | =, =
QL L | L a
o i et o)) T
A | S | | o
| | I +-—+t-—-4---
~| ! | | ! |
<[ | === 7~ ~
[%2) | | o [%2) | | o
| | ~ e
! I I R
| | o | | o
| B R R R I
| | L
| | o | | o
| | N Fm-—t-—tFt-—d4--- «
| | | |
i e T e Eoutie Bty
I I < I I < ]
o —— T — — — — e — | — — ot s .
Lo 1L __ I __ R S B
| | o | | o
| | = o
[w] [u]
[ [ [
£ £ £
= [ [ = =
[oe]
3 ofFt-—41--4-—-
» T ° .
-= —_——— 2 -—0
~ | ! !
< - - - - -
[%2] wn | | o
r- -1 .
I L __ L __ ]
I | o
L1 Lo L R

| | o
et A BN
| |
I I
d | | <
\\\\\\\\\\\ -
- — |”| -_ + i
oo oo D
Il Il nw
o~

2-2(3)

11



®

10
(1K200 — sS4
—— 558
——H6
5 —H12
0
-5 L L L
0 200 400 600 800
2-3(1) 1K2
208

140

130

120

110

100

118K800

——558
——Ho
——Hi14

50 100 150 200 250 300
2-3(2)  118K8

171K000

206

204

202

200

198

2-3(3) 171K0

12




*

2-6

,60KO0 (

150
145

140 r

135
130
125

120 r

115
110

124K4

—H6
—S58

100 150 200 250 300

350 400 (M

215
214
213
212
211
210
209
208
207
206
205

174K6

—H13
—H7

50

100 150 200

250 300 (M

13




(m3)

100,000

80,000

60,000

40,000

20,000

50,

)

30,
20,
10,

50,

)

30,
20,
10,

50,

@)

30,
20,
10,

40,

40,

40,

000
000
000
000
000

000
000
000
000
000

000
000
000
000
000

S58 S59 S60 S61 S62 S63 S64 H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16 H17

2-7

[ H4 H6

A& (B0KO 61KO)

II'A/
0KO  5K0  10KO  15KO  20KO  25K0  30KO  35K0  40KO  45K0  50KO  55K0  60KO  65K0  70KO  75K0  80KO
(km)
WH7 HI3
A (60KO 61K0)
X
0KO  5K0  10KO  15KO  20KO  25K0  30KO  35K0  40KO  45K0  50KO  55K0  60KO  65K0  70KO  75K0  80KO
(km)
WHI14 H17
P's
0KO  5K0  10KO  15K0  20KO  25K0  30KO  35K0  40KO  45K0  50KO  55K0  60KO  65K0  70KO  75K0  80KO
(km)

2-8(1) (OKO 80KO)

14



)

)

)

@)

@)

@)

50,000
40,000 S58  H6
30,000 (124K4
20,000 )\\\“~
10,000
0
100KO 105K0 110KO 115K0 120KO 125K0 130KO 135K0 140KO 145K0 150K0 155K0 160KO 165K0 170KO 175K0  180KO
(km)
50,000
40,000 H7 H13
30,000
20,000
10,000 (174K6)
0
100KO  105K0  110KO  115K0 120KO 125K0  130KO 135K0 140KO  145K0 150K0 155K0 160KO 165K0 170KO  175K0  180KO
(km)
50,000
40,000 H14 H17|]
30,000
20,000
10,000
0
100KO 105K0 110KO 115K0 120KO 125K0 130KO 135K0 140KO 145K0 150K0 155K0 160KO 165K0 170KO 175K0  180KO
(km)
2-8(2) (100KO  179K0)
50,000
40,000 [
30,000
20,000
10,000
0
0KO 1K0 2K0 3K0 K0 5K0
(km)
50,000
40,000 H7 H13
30,000 [
20,000 [
10,000
0
0KO 1K0 2K0 3K0 4K0 5K0
(km)
50,000
40,000 H14 H17
30,000 [
20,000
10,000
0
0KO 1K0 2K0 3K0 4K0 5K0
(km)
2-8(3) (0KO 5K8)

15



@)

@

)

50,000
40,000
30,000
20,000

10,000

50,000
40,000
30,000
20,000
10,000

0

50,000
40,000
30,000
20,000

10,000

S58 H6

0KO 1K0

2K0

3K0 4K0

5K0
(km)

H7 H13

0KO 1K0

2K0

3K0 4K0

5K0
(km)

0KO 1K0

2-8(4)

2K0

16

3K0 4K0

(OKO  5K5)

5K0
(km)



1

(307..5km?) 8%
3-1 18 ( /
30%
( / / Yy 200m/ /kn?
(200 300m%/ /km?)
3-1
(H18 )
(km?) ( m) ( m) (m¥/  /km?)
307.5 6,200 1,888(30%) 190 S49-H18(N=33)
) (H18)
2000 0
1500 | 11000 ~
- 2
= 30
~1000 | 1 2000
—
—/
500 — -{ 3000
0 b I_I_H—l_n—J_I_’—\ |—|_|_ 4000
S.49 S.53 S.57 S.61 H.2 H.6 H.10 H.14 H.18

3-1

17




0k600

S47.7
S58.7

0K200

10,200m3/s
7,500m3/s
7,500m/s

18



6T

L=t Y
j  FTINOWLS

LL gt b



60

7,500m/s

20

58



